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201 LEr23d| 3,000 1,200 1,800




=N

gLH: TlIo

SHOANEFAE
olAde.al al OFX|

ool 2F 0N B4 LR
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
01 AtS2teltl 3,000 1,200 1,800
=0 A 3,000 1,200 1,800
Oget=2H| 1,800
-UIE FHI3LA 22421 HIOIK HIZ
300,000 & *500 A 1,500
—OIAEAHTI MEHA 22t HIOIX XIE
300,000& =100 A 300
o=2g+4Y 1,200
e 1=] =17 g= U b B Yol BT =
600,000& *23] 1,200
307 QIZ2t0| A 17,000 17,000
02 QIZIZAANSEEX 17,000 17,000
20 & 17,000 17,000
OLINE ZXHT XA
,400,0002 *109H A +50% 12,000
OGHHEEHI| MExHA ZEH S KIJA
s 10,000, 0002 * 170 A~ *50% 5,000
402 QIZ2ERH=01H 30,000 30,000
01 QI EAIL B R (XEAMITHE) 30,000 30,000
S04 & 30,000 30,000
OLINE T A &Yl XIJAALS
6,000,000 *5JH A *50% 15,000
OSHHEEHI ME=HA JH| XIJAALS
30,000,000 *1JH 2 +50% 15,000
=522 SH X3 137,920 50,460 87,460
N SHEAL =& 137,920 50,460 87,460
201 LEr23d| 132,020 46,560 85,460
01 AtS2teltl 102,420 42,060 60,360
S0i & 102,420 42,060 60,360
O=&| 1,920
XS SHEAL SR =&
8,000 *4H 603] 1,920
Odxt=z 100,500
-ENUEH, Z2U=sH S |d EI] gz
10,000,000 *103] 100,000
“HESA 22 AR XA
500,000 *1CH 500
03 A2 FH| 29,600 4,500 25,100
S0j &t 29,600 4,500 25,100
OEA=M, ZU=EH S JtAEX L ot
M AtHI 540,000& x4 2~%103] 21,600
OXY =M 2287 (AD] 2 15)
100,000 *3H A% 1074 2 3,000
O=H ¢ Hiwe 5 M
50,0003 *105* 1000 2~ 5,000
202 O4H| 900 900
01 =LHB] 900 00
201 & 900 900




=N

T XH -

el 25 =X A LR
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
OYESAZ3I2&X] sAF X
100, 000& *3H x3! 900

301 LBtE M= 5,000 3,000 2,000
14 J|EI2 A= 5,000 3,000 2,000
=0 A 5,000 3,000 2,000

O T SAIR232 XX IS A (20 2)

N 2,500,000& *1&|*2JH A~ 5,000

HMSALH|(ENMOHE =RCSH) (JIEHDIIE 33,040 0 33,040
J|l2&t| 33,040 0 33,040
Jl2ZHI(SHEAH) 21,440 0 21,440
201 LB AH| 19,040 0 19,040
01 AtR2teld| 19,040 0 19,040
SEAH=20IH 19,040 0 19,040
202 04| 2,400 0 2,400
01 Z2LHAH Y] 2,400 0 2,400
SH=O0IH 2,400 0 2,400
JI2ZHI(ZSHEAR) 3,480 0 3,480
201 LEt2AH| 1,680 0 1,680
01 AtR2teldl 1,680 0 1,680
SH=O0IX 1,680 0 1,680
202 04| 1,800 0 1,800
01 2Nyl 1,800 0 1,800
SEAH=20IH 1,800 0 1,800
JI2ZH(XNEHMAZ) 3,480 0 3,480
201 LBL2Ab| 1,680 0 1,680
01 AF22telb] 1,680 0 1,680
SHSOIA 1,680 0 1,680
202 0dH| 1,800 0 1,800
01 =Wyl 1,800 0 1,800
SH=O0IX 1,800 0 1,800
J23H| (A Z M) 4,640 0 4,640
201 B2 AY| 2,240 0 2,240
01 AtR2teldl 2,240 0 2,240
SH=O0IX 2,240 0 2,240
202 04| 2,400 0 2,400
01 2LHAH Y] 2,400 0 2,400
SHSOIA 2,400 0 2,400




